4°%p

3%

]
~- & ¥
i | }
N
o
11 i
_@m C 2 L
i N\

R/

[ PARTS LIST )
ITEM PART # QTy DESCRIPTICMN
1 SPP4218AL-2 1 SPLICE PLATE
g ™)
REFERENCE DRAWINGS
7 ™y
NOTES. .

1. ALL MEASUREMENT ARE INCHES UN.O.

2. ALL MATERIAL TO BE 1/8" ALUMINUM, GRADE 5052 UN.C

3. ALL CUTTING OF COMPONENTS TO BE DONE ON CNC LASER, TO A TOLERANCE
OF +/-0 INCHES

4 ALL FORMING TO BE DONE ON CNC PRESS BRAKE. TO A TOLERANCE
OF +/-2 DEGREES (ENDS TO BE 90 DEG UND)

5 ALL HARDWARE TO BE ZINC PLATED STEEL

6 ALL BOLTS TO BE "CARRIAGE” TYPE. 3/8-15 X 1" LONG

7 LINEAR DIMENSIONS FOR ASSEMBELIES ARE NOMINAL AND MAY VARY

Y >
( )
A ISSUED FOR APPROVAL JULY 8,208
REV DESCRIPTICN DATE APPROVE[L
' ™
SAND-MARK
SHEET METAL
28 PERMA CT, ST. CATHARINES ON. L2R 7K8 S05.984 8466

Fre
SPLICE PLATE, MODEL SM-SPPL-AL-4-INS

CLIENT

SAND-MARK SHEET METAL LIMITED

| s CATE TRAVAL CHEGRED
NTS 07.10.2018 RW AW
SRACTNG TG REV
SM-0021 A

\. o




TRAY HOLD CLAMP, MODEL SM-HC-2-AL _

- TO BE USED TO HOLD IN PLACE,
1/8" ALUMINUM CABLE TRAY

DEVELOPMENT

3Ke"

1 Et ! v,

O/

~ TRAY HOLD CLAMP, MODEL SM-HC-3-AL

- TO BE USED TG HOLD IN PLACE,
1/8" ALUMINUM CABLE TRAY

b,
N
=

DEVELOPMENT

"0

TRAY HOLD CLAMP, MODEL SM-HC5-2-AL

- TO BE USED TO HOLD IN PLACE,
1/8" ALUMINUM CABLE TRAY AT SPLICE CHANNEL LOCATION

i
z W |
DEVELOPMENT

TRAY HOLD CLAMP, MODEL SM-HCS-3-AL

- T BE USED TO HOLD IN PLACE,

1/8" ALUMINUM CABLE TRAY AT SPLICE CHANNEL tOCATION

15"
g L ]
DEVELOPMENT
e
TF Il h"
|
e
I
I
| S, El ! A
i
|
@16

ALL MEASUREMENT ARE INCHES UN.O
ALL MATERIAL TO BE 1/8" ALUMINUM, GRADE 5062 U N.O.

ALL CUTTING OF COMFONENTS TO BE DONE ON ONG LASER, TO A TOLERANCE

OF +. 0 INCHES

ALL FORMING TO BE DONE ON CNC PRESS BRAKE. TO A TOLERANCE

OF +-2 DEGREES (BENDS TO 8E 90 DEG UNQ)

ALL HARDWARE TO BE ZINC PLATED STEEL
ALL BOLTS TC BE "CARRIAGE" TYPE. 3/8-16 X 1" LONG

LINEAR DIMENSIONS FOR ASSEMBLIES ARE NOMINAL AND MAY VARY

PARTS LIST ]

ITEM PART # QTY DESCRIPTION

1 CL-S-AL-2 1 CLAMP

2 CL-8-AL-3 i CLAMP

3 CL-D-AL-2 1 CLAMP

4 CL-D-AL-3 1 CLAMP )
> ,
| REFERENCE DRAWINGS )
r N

NOTES

A ISSUED FOR APPROVAL JULY 9. 2018

REV DESCRIPTION DATE

APPROVED
-’

; J SHEET METAL

28 PERMA CT. 5T CATHARINES ON, L2R 7K8

SAND-MARK

905 284 5486

TITLE

TRAY HOLD CLAMPS, ALUMINUM

[CLIERT

SAND-MARK SHEET METAL LIMITED

| e

AT CRAAM

NTS 07.10.2018 Rw

ZHECKED

AW

\

QRAPNG HD SM-0022

REV

A




4%

?

PARTS LIST

> ITEM PART # QTy DESCRIPTION

R1/8 / @1%'32

REFERENCE DRAWINGS

" r

/
NOTES

1. ALL MEASUREMENT ARE INCHES UN.G

2. ALL MATERIAL TO BE 1/8" ALUMINUM, GRADE 5052 UNO

3. ALL CUTTING OF COMPONENTS TO BE DONE ON CNC LASER. TO A TOLERANCE
COF +/« DINCHES

4. ALL FORMING TO BE DONE ON CNC PRESS BRAKE, TO A TOLERANCE
CF +- 2 DEGRERS (BENDS TO BE 80 DEG UNO)

5. ALL HARDWARE TO BE ZINC PLATED STEEL

8. ALL BOLTS TO BE "CARRIAGE" TYPE. 3/8-16 X 1" LONG

7 LINEAR DIMENSIONS FOR ASSEMBLIES ARE NOMINAL AND MAY VARY

e
r )
A ISSUED FOR APPROVAL JULY 9, 2018
REV DESCRIPTION DATE APPROVEDR
— et
& )
SAND-MARK
SHEET METAL
28 PERMA CT. 8T. CATHARINES ON, L2R 7Kg 205.984 6466

TITLE

SPLICE CHANNEL, MODEL SM-SPCH-AL-5-LV

CLIENT

SAND-MARK SHEET METAL LIMITED
SCALE DATE SRAGN [CHECKRED

NTS 07.10.2018 RwW AW

LRAAHG HO =

SM-0014 A




24 ,

O O O ]
T
<
I i °m M ©°
\\
@Y%
DEVELOPMENT
24
4
I - o o |
;\9’
o
_°_ OO O0O° °COoO. O _° ]
1

4%

( PARTS LIST A
ITEM PART # ary DESCRIETION
N " B ) . _J
1 SM-0008
REFERENCE DRAWINGS ]
\
' )
NOTES

1. ALL MEASUREMENT ARE INCHES UM.O
2. ALL MATERIAL TQ BE 1/8" ALUMINUM. GRADE 052 UN.OQ

3. ALL CUTTING OF COMPONENTS TO BE DONE ON CNC LASER. TO A TOLERANCE
QF +/- 0 INCHES

ALL FORMING TO BE DONE ON CNC PRESS BRAKE, TO A TOLERANCE
OF +/- 2 DEGREES (BENDS TO BE 50 DEG UNO}

ALL HARDWARE TO BE ZINC PLATED STEEL

ALL BOLTS TO BE “CARRIAGE” TYPE, 3/8-16 X 1" LONG

LINEAR DIMENSIONS FOR ASSEMBLIES ARE NOMINAL AND MAY VARY
FORM TG FIT PART # STR512101BAL-1 ON MODEL SM-10-AL-12-12-5-LY

A

~ o3

A | ISSUED FOR APPROVAL JULY 8, 2018
LFIF":V DESCRIPTION DATE APPROVEE
¢ ~
SAND-MARK
J SHEET METAL
28 PERMA CT. ST. CATHARINES ON_ L2R 7K8 905 984 6486

TITLE

SPLICE CHANNEL, MODEL SM-SPCH-AL-5-LV

GLIENT

SAND-MARK SHEET METAL LIMITED

| o DRAVM CHECKED

CATE
NTS 07.10.2018 RW AW

CRANGHNG 1O REY

SM-0013 A

e e’




24 r

Q O O Q
Ay
0o
Y o M MY °C M __M O
"
\\\
L @'%
DEVELOPMENT
24
o o o o |
o

67

Y

PARTS LIST
ITEM PART # QTy DESCRIPTION
- N - - >
4 ™
SM-0002
REFERENCE DRAWINGS )
NOTES. .

3. ALL CUTTING OF COMPONENTS TO BE DONE OM CNC LASER, TO A TOLERANCE

~ N

ALL MEASUREMENT ARE INCHES UN.O
ALL MATERIAL TO BE 1/8" ALUMINUM, GRADE 5052 UN.O.

OF +/-0 INCHES

ALL FORMING TO BE DONE ON CNC PRESS BRAKE, TO A TOLERANCE
OF +/-2 DEGREES (BENDS TO EE 90 DEG UNO}

ALL HARCWARE TO BE ZING PLATED STEEL

ALL BOLTS TO BE "CARRIAGE" TYPE, 3/8-16 X 1" LONG

LINEAR DIMENSIONS FOR ASSEMBLIES ARE NOMINAL AND MAY VARY
FORM TO FIT PART # STR7121018AL-1 ON MODEL SM-10-AL-12-12-7LV

ISSUED FOR APPROVAL JULY 9, 2018

REV DESCRIPTION DATE APPROVEE_}‘

28 PERMA CT. §T. CATHARINES ON. L2R 7K8 505964 54E6

™)

SAND-MARK

SHEET METAL

SPLICE CHANNEL, MODEL SM-SPCH-AL-7-LV

CLIERT

SAND-MARK SHEET METAL LIMITED

BCALE

CRAGGNG HD e

DRA CHECKED

CATE
NTS i- 07.10.2018 RW AW

SM-0006 A




5%

|
o/
>—"
5 . ~
LN PARTS LIST
ITEM PART # QTy DESCRIPTION
- - I
; — _ ) ) J
£ 1 - - - ¢
£y
\& - -
AN
. REFERENCE DRAWINGS
\\\\ @1 -3"é2 ’ ‘
X ; — MOTES. .
1 ALL MEASUREMENT ARE INCHES UNO.
1 2 ALL MATERIAL TC BE /8" ALUMINUM, GRADE 5052 UN.O.
3/2 3. ALL CUTTING OF COMPONENTS TO BE DONE ON CNC LASER, TO A TOLERANCE
OF +/-0 INCHES

4. ALL FORMING TC BE DONE ON GNC PRESS BRAKE. TO ATOLERANCE
OF +/.2 DEGREES {BENDS TO BE 80 DEG UNQ)

5. ALL HARDWARE TO BE ZINC PLATED STEEL

6 ALLBOLTS 7O BE "CARRIAGE" TYPE, 3/8-16 X 1" LONG

7. LINEAR DIMENSIONS FOR ASSEMBLIES ARE NOMINAL AND MAY VARY

\. e’
[ )
A ISSUED FOR APPROVAL JULY 9, 2018
REV DESCRIPTION DATE APPROVED
L. —

_ SAND-MARK

SHEET METAL

26 PERMA CT. ST. CATHARINES ON, LIR 7K8 505.984 6465
TITLE
SPLICE CHANNEL, MODEL SM-SPCH-AL-7-LV

SAND-MARK SHEET METAL LIMITED
[QATE CRAYMN

NTS 07.10.2018 RW
CRATGHG 1D SM-0007




